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All Candidates' performance across questions

Question Title Mean Max Mark Attempt %

1a 44 2.4 1.4 6 40.2 7.7

Question
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.

Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.
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Write the two digit guestion
number inside the boxes next
to the first line of your answer
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Sticky Note

Q2(d) Mark: 4

A relatively weak script as only duty and breach considered with minimal information being provided on those elements. A nod to Robinson but case not actually mentioned. Needs to consider in detail: factors relevant to breach; factual and legal causation along
with the “thin skull rule”; damage and remoteness. 
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Write the two digit question
number inside the boxes next Answer
to the first line of your answer
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Write the two digit question
number inside the boxes next Answer
to the first line of your answer
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Sticky Note

Q2(d) Mark: 7

A very good answer but mark capped at top of Band 3 as no mention of Robinson.

" * " for Q2(d) on pages 9 and 10. 
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OR

Question 2: Law of Tort

Read the scenario below and answer part (d).

Tom, a retired schoolteacher, and his wife, Isabelle, were driving home after visiting their local
garden centre. As they made their way around the narrow lanes, they were suddenly hit by a
huge hay bale which fell off a tractor driven at high speed by Daniel, a local farmer. Other than
suffering some bruising, Isabelle was not injured. Tom, however, suffered from epilepsy. He
started to fit, was airlifted to hospital and died later that night.

(d) Advise Isabelle whether she is likely to be successful if she sues Daniel for negligence
in respect of Tom’s death. [9]

B150U201
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Section B: Public Law

Question 3: Criminal Law

@) Explain the burden of proof in criminal law. [6]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all

the

material mentioned below. Each answer will be assessed on its merits according

to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In explaining what is meant by the burden of proof in criminal law, candidates are
expected to demonstrate knowledge and understanding of the English legal system
and legal rules and principles underlying the concept.

The response might consider issues such as:

In a criminal case, the burden of proving guilt is on the prosecution. This “golden
thread” runs through the English legal system and supports the fact that a person
is presumed innocent until proven guilty (Art 6 ECHR).

Woolmington v DPP (1935) confirms that the prosecution must prove the case
“beyond reasonable doubt” in a criminal trial. This is a very high burden of proof
and, in order to convict, the judge/jury must be left with hardly a shadow of doubt
in their minds that the defendant committed the crime. If this is not the case, they
must bring back a “not guilty” verdict. This will be outlined to the jury by the judge
before they retire to deliberate.

The requirement for such a high burden of proof reflects the potential impact of a
conviction on a defendant.

The high standard of proof required for a criminal case can be contrasted with the
lower burden (on a balance of probabilities) demanded in civil trials where
generally damages or injunctions are the remedy rather than potential loss of
liberty.

Assessment grid for Q3(a)

Band Marks

AQO1: Demonstrate knowledge and understanding of the
English Legal System and legal rules and principles

Excellent knowledge and understanding of the English Legal
System and legal rules and principles relating to the burden of
proof in criminal law. Response is clear, detailed and fully
developed.

Good knowledge and understanding of the English Legal
System and legal rules and principles relating to the burden of
proof in criminal law. Response is generally clear, detailed
and fully developed.

Basic knowledge and understanding of the English Legal
1 1-2 System and legal rules and principles relating to the burden of
proof in criminal law. Response includes minimal detail.

0 Response not credit worthy or not attempted.

© WJEC CBAC Ltd.
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Sticky Note

Q3(a) Mark: 4

A good explanation albeit brief. Need to mention Woolmington to get into Band 3.
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Section B: Public Law

Answer either question 3 or question 4.

EITHER
Question 3: Criminal Law

(@) Explain the burden of proof in criminal law. [6]

© WJEC CBAC Ltd. (B150U20-1)
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(b) Explain the actus reus and mens rea of S20 Offences Against the Person Act 1861.

[6]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In explaining the actus reus and mens rea of s20 OAPA 1861, candidates are
expected to demonstrate knowledge and understanding of the English legal system
and legal rules and principles underlying the offence. In demonstrating this
knowledge and understanding, candidates are required to focus on the specific
nature of the question set and not simply give a general answer.

The response might consider such issues as:
e Statutory offence under the OAPA 1861
e Actus Reus:

- Can be committed in one of two ways: wounding or inflicting GBH.

- A wound must break the inner and outer skin — Eisenhower 1984. Even a
broken bone does not constitute a wound unless it penetrates through the
skin (Wood 1830).

- GBH = means “really serious harm” (Smith 1961) but it does not have to be
life threatening (Saunders 1985). The severity of the injuries will be assessed
according to the victim’s age and health (Bollom 2004). Can include
psychiatric injury such as severe depression (Burstow 1997) and can be
based on infecting another with HIV (Dica 2004).

e Mens Rea:

- Intention or subjective (Cunningham 1957) recklessness as to whether
another person suffered some harm. No need to prove that the defendant
foresaw the actual degree of harm caused (Mowatt 1967)

Assessment grid for Q3(b)

AO1: Demonstrate knowledge and understanding of
Band Marks | the English Legal System and legal rules and
principles

Excellent knowledge and understanding of the English
Legal System and legal rules and principles relating to the
actus reus and mens rea of s20 OAPA 1861. Response is
clear, detailed and fully developed.

Good knowledge and understanding of the English Legal
System and legal rules and principles relating to the actus
reus and mens rea of s20 OAPA 1861. Response is
generally clear, detailed and fully developed.

Basic knowledge and understanding of the English Legal
System and legal rules and principles relating to the actus
reus and mens rea of s20 OAPA 1861. Response includes
minimal detail.

0 Response not credit worthy or not attempted.

© WJEC CBAC Ltd. 17
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Sticky Note

Q3(b) Mark: 3

Wounding only. No mention of GBH. No citation. Confusion between AR and MR.
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Sticky Note

Q3(b) Mark: 0

Candidate fails to identify that S20 relates to the offence of inflicting grievous bodily harm and therefore has provided no relevant information.
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Sticky Note

Q3(b) Mark: 6

An excellent answer along with relevant citation. To extend the response, mention could also have been made of Wood and Bollom.
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Section B: Public Law

Answer either question 3 or question 4.

Question 3: Criminal Law

(b) Explain the actus reus and mens rea of S20 Offences against the Person Act 1861. [6]

© WJEC CBAC Ltd. (B150U20-1)
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(c) Assess the advantages and disadvantages of strict liability offences. [9]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all the
material mentioned below. Each answer will be assessed on its merits according to the
assessment grid and the indicative content. Examiners should seek to credit any further
admissible evidence offered by candidates.

In order to achieve the highest marks, candidates must demonstrate their ability to draw
together details and cases from areas to evaluate the advantages and disadvantages of
strict liability offences.

Candidates will offer an assessment of the legal rules, principles and concepts relevant
to the question and will use case law to illustrate and evaluate this category of offences.

The response might consider issues such as:

- Definition of a strict liability offence — goes against Lord Coke’s legal principle actus
reus non facit reum nisi mens sit rea. The prosecution need only prove that the
defendant committed the actus reus, there is no mens rea element in the offence,
guilt simply follows completion of the prohibited actus reus.

Advantage might include:

SL offences promote social utility by regulating activities that cause harm to the
public and promoting higher standards of care. Could lead to, for example, safer food
and hygiene standards (Callow 1900), less pollution (Alphacell 1972), safer buildings
(Gammon 1984). SL is accepted on the basis that the greater good outweighs the
occasional injustice.

- Difficulties and expense of establishing mens rea in such cases removed, making the
law easier to enforce. This may have a deterrent effect and may lead to more guilty
pleas as defendant knows that conviction is more likely in these circumstances.

- Tend to carry small penalties. Lack of blameworthiness can be taken into account
when sentencing, e.g. £20 in Alphacell 1972 (cf fine of £20.3 million faced by Thames
Water in 2017 for discharging untreated sewage into the Thames).

- Where approved by Parliament, due diligence defence may be available to soften the
harshness of such offences.

Disadvantages might include:

- Too easy to obtain convictions, arguably law enforcement should not take priority
over doing justice. Apart from being morally wrong, it could be argued that SL
offences go against the principle that criminal law punishes fault when a defendant
has taken all reasonable steps to avoid committing an offence but is still convicted
(Callow 1900). In addition, conviction of small businesses is likely to attract social
stigma and subsequent potential ruin for these firms. Similarly, criminal convictions
need to be declared for employment purposes and therefore proof of fault should be
a requirement in establishing criminal liability.

- Judges tend to be reluctant to impose strict liability (Sweet v Parsley 1970) but where
Parliament has failed to clarify whether an offence is one of strict liability, it is left to
the discretion of the courts to make that decision. Despite the Gammon guidelines,
there can be inconsistency in the imposition of strict liability. Evident in the different
approach to sexual offences seen in B v DPP (2000) and R v Kumar (2004) on the
one hand and R v G (2008) on the other. Courts have never laid down a list of
offences they consider to be “true crimes” rather than “regulatory offences”. Judicial
activism could involve potential breach of the doctrine of separation of powers.

© WJEC CBAC Ltd. 18





- Questionable whether SL is a true deterrent and/or leads to higher standards.
Generally fines tend to be small and larger companies may find it cheaper to pay the
fine rather than deal with the cost of necessary adjustments in the workplace.

- Lack of mens rea evidence may also make sentencing more difficult as the court may
struggle to distinguish between the deliberate and accidental offender.

- Could consider reform: Law Commission Draft Criminal Liability (Mental Element) Bill
1977 required an Act should specifically state if it is creating a SL offence. Where this
is not expressly stated, then mens rea should be required. Such an approach would
avoid the litigation and unfairness noted above. Development of criminal
responsibility based on negligence would convict those who were thoughtless or
inefficient but would not punish the blameless, thereby addressing the moral issue.
Alternatively, a defence of “due diligence” (as in Australia) could be allowed for all
strict liability offences.

Assessment grid for Q3(c)

Band Marks AO3: Analyse and evaluate legal rules, principles and
concepts

e Excellent analysis of legal rules, principles and concepts
relevant to the imposition of strict liability in criminal law.

e Analysis is detailed with appropriate range of supporting
evidence which draws together knowledge, skills and

4 8-9 understanding.

e Excellent evaluation of when liability can be imposed in
criminal law on the basis of strict liability, including a valid
and substantiated judgement.

e Excellent citation of supporting case law and legal
authorities.

e Good analysis of legal rules, principles and concepts
relevant to the imposition of strict liability in criminal law.

e Analysis is generally detailed with appropriate range of

3 6-7 supporting evidence which draws together knowledge, skills
and understanding.

e Good evaluation of when liability can be imposed in criminal
law on the basis of strict liability, including a valid judgement.

e Good citation of supporting case law and legal authorities.

e Adequate analysis of legal rules, principles and concepts
relevant to the imposition of strict liability in criminal law.

e Analysis includes some detail with appropriate range of
supporting evidence which draws together knowledge, skills

5 3.5 and understanding.

e Adequate evaluation of when liability can be imposed in
criminal law on the basis of strict liability, including reference
to a judgement.

e Adequate citation of supporting case law and legal
authorities.

e Basic analysis of legal rules, principles and concepts
relevant to the imposition of strict liability in criminal law.

1 1-2 Analysis includes minimal detail.

e Basic evaluation of when liability can be imposed in criminal
law on the basis of strict liability.

e Basic citation of supporting case law and legal authorities.

0 ¢ Response not creditworthy or not attempted.
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Sticky Note

Q3(c) Mark: 9

An excellent answer overall. Good use of relevant citation and AO3 skills also evident. 
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Sticky Note

Q3(c) Mark: 6

Rather short on detail. A definition of what constitutes a strict liability offence needed at the outset. AO3 skills, however, evident along with relevant citation. 
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Section B: Public Law

Answer either question 3 or question 4.

EITHER

Question 3: Criminal Law

(c) Assess the advantages and disadvantages of strict liability offences. [9]

© WJEC CBAC Ltd. (B150U20-1)
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The scenario below should be used when assessing part (d)

Megan moved in to look after her aged aunt, Deborah, who had recently suffered a stroke
and was struggling to manage by herself. Although things worked well initially, Megan
subsequently failed to properly care for her aunt. The lack of personal hygiene led to
Deborah developing sores on her body and the absence of proper food caused her physical
condition to deteriorate. Unfortunately, Megan did not call a doctor until it was too late and
her aunt died.

(d) Advise Megan whether she would be liable for failure to act on these facts. [9]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In advising Megan, candidates are expected to apply the full range of legal rules and
principles relating to her situation. In this case, candidates may discuss the actus
reus and omissions and apply relevant case law to the given scenario to present a
legal argument.

The response might consider issues such as:

- Definition and importance of actus reus — physical element of a crime; it can be
an act, a failure to act or a state of affairs.

- Normally an omission cannot make a person guilty of an offence.

- Advise Megan that liability can only be based on an omission when there is a
duty to act.

- Outline the situations where a person is under a duty to act. May be imposed: by
statute — e.g. s6 RTA 1988 but usually by the courts: by contract — Pittwood
(1902); due to a special relationship — Stone & Dobinson (1977); arising from
assumption of responsibility — Instan (1893); misfeasance in public office —
Dytham (1979); the defendant inadvertently creates a dangerous situation,
becomes aware of it but does nothing to rectify it - Miller (1983), Evans (2009).

- Discussion of exceptions and cases noted above, in particular special
relationship and voluntary assumption of responsibility.

- Application to the facts of the scenario to decide whether a duty to act did exist.

© WJEC CBAC Ltd. 20





Assessment grid for Q3(d)

Band

Marks

AQO2: Apply legal rules and principles to given
scenarios in order to present a legal argument using
appropriate legal terminology

8-9

Excellent application of legal rules and principles to
Megan’s situation.

Excellent presentation of a legal argument using
appropriate legal terminology, case law and other legal
authorities regarding whether Megan may be liable for
failing to act. The legal argument is detailed, fully
developed and persuasive.

6-7

Good application of legal rules and principles to
Megan’s situation.

Good presentation of a legal argument using
appropriate legal terminology, case law and other legal
authorities regarding whether Megan may be liable for
failing to act. The legal argument is generally detailed,
developed and persuasive.

3-5

Adequate application of legal rules and principles to
Megan’s situation.

Adequate presentation of a legal argument using some
appropriate legal terminology, case law and other legal
authorities regarding whether Megan may be liable for
failing to act. The legal argument includes some detail
which is developed in places.

1-2

Basic application of legal rules and principles to
Megan’s situation.

Basic presentation of a legal argument using minimal
legal terminology, case law and other legal authorities
regarding whether Megan may be liable for failing to
act. The legal argument includes minimal detail.

Response not creditworthy nor attempted.

© WJEC CBAC Ltd.
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Sticky Note

Q3(d) Mark: 7

Exceptions to the “no liability for omissions” rule noted, using relevant case law. AO2 skills evident but could have been extended, e.g. could have considered whether the “special relationship” exception in Stone v Dobinson could be extended to include aunt/niece. 






		Eduqas AS Law Q3D example 1 marked.pdf

		Script 1

		Script 2

		Script 3

		Script 4

		Script 5

		Script 7

		Script 10

		Script 11










 Write the two digit question

- number inside the boxes next’

~ to the first line of your answer -

. Answer

527_’* d o Clearoes SNBSS v A %Wgzw P ST SN S
AT o d@wﬁ&aﬁa o Oﬁﬁﬁkﬂy.hﬁﬁ%&@ ﬁy &@wﬁlﬂﬂWJ 18
d 5 S coxegevae %WM %ﬁ Aalf oS o Combesl L
_ twmyrgpmthﬁ A ) @%di ﬁfﬁjmw%}~ ﬁn& j&%ﬁAﬁwﬁyw
Juad o conCodaid oy v Spen ool cAose _
L e CORMns e touv . e e got, i@ o ;\é’f‘w '__

. { ) : .
A sprreg e B0 ohen 5 ’1;;n\,ﬁ£%i?dxéi (oA enD RS Sad d?ﬂfj v
v WM E AT AT G e a O n
- vkuw} oo s ohoes 'Y DA © Secondha B
A Ao S S“QQ;W fju ATl f@ffmﬂfz/’wﬁ“ -
. %,,ﬁ jﬂ w{a;@f/‘f oA jm@a‘v?"} M/Wf‘"f” S
,m%mw\\? a%,. I‘M&w‘“w %'%\A/\%\‘%”D M 2
1l i oh ﬂ..._ﬁmf A NS ko @S Y a??u.? 3
165 dasre S Ao ’%M‘i’“&j- Q&;uwk_wt Vv, o
— TW§W ‘;%g “’*Muz_- (& e A EBASIS Y are n
4 reoensti .l Shose gad fjm; ﬁmf 7be L
mg%@/m;if e e /UMJ 'f%f fw’ /ao&% -

P i

[ oz et

+o
.M£Zé322511.¢' f%fﬁbfqﬁm
ﬁ“‘f

..QRAJi ;Nd £

o Fhe

'{W A@/vf‘-e?

N B s
/bfé«m ;ﬁ;@?’"&’m 4 ﬁ /w’fmém
/gaxﬁf f&ﬁ m?%ﬁ Sooit 5%fgfé%/” éibéyp

S 64)@>3afa?;? 5%2 '

a

Leave

blank

N .?fmwfz; it Noxt, i P (,&L/WW _
1 cvwrd e roamer. Ao alie Ja A lles, AT L
| ewiwer e pofcedd iR
| pay fo hidle sp hur /MM* fer |
_ §4Jb” 5%4/914’" f<5¢7€ 5’23 9/&4§ﬂ LA ?L'i A .'""" Vﬁ” -
| et Wﬂlﬁ hé’& &‘,/ 7ie .
la oA Ll /n fiffj;%EQg;Lnbz’f ?ilgﬁ; i;zfé;{i B
Joffitar wa“ Wa/ Wfﬁ':’ /w L
_%9 RE ST Hare, M\_?ga/\ i M%— o ?‘:“ﬂ“ R

i{,aﬁ/g@ﬁw /7 &ﬁéfvﬂ@' v

1

oty ujf WW SRR
ho3 re b o 77)%,__






Write the wo digit question ™~ Ledve
number ms:dethe boxes next - o Answer blark

—- M@?’M M*’d ;éa m/%/{_g @S She et
| asined seenoil B over Lor awar @ |
A o e Az

&

o el feer 2E . |

; e



Sticky Note

Q3(d) Mark: 8

Overall, a very good answer demonstrating good AO2 skills.
Could be extended, e.g. by considering whether the courts would consider extending the “special relationship” duty to act (Stone & Dobinson) to include aunt/niece.
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Sticky Note

Q3(d) Mark: 4

Although some AO2 skills evident, response lacks detail. Only two exceptions to the “no liability for omissions” rule noted.
Response needs to be extended, e.g. by considering duty to act under Miller, Evans, Dytham. 





		Eduqas AS Law Q3D example 3 marked.pdf

		Script 1

		Script 2

		Script 3

		Script 4

		Script 5

		Script 7

		Script 10

		Script 11
















Section B: Public Law

Answer either question 3 or question 4.

EITHER

Question 3: Criminal Law

Read the scenario below and answer part (d).

Megan moved in to look after her aged aunt, Deborah, who had recently suffered a stroke

and was struggling to manage by herself. Although things worked well initially, Megan
subsequently failed to properly care for her aunt. The lack of personal hygiene led to Deborah
developing sores on her body and the absence of proper food caused her physical condition to
deteriorate. Unfortunately, Megan did not call a doctor until it was too late and her aunt died.

(d) Advise Megan whether she would be liable for failure to act on these facts. [9]
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Question 2: Law of Tort

€)) Explain the ‘but for’ test in the law of tort. [6]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In explaining the “but for” test in relation to the law of tort, candidates are expected to
demonstrate knowledge and understanding of the English legal system and legal
rules and principles underlying the principles of the test. In demonstrating this
knowledge and understanding, candidates are required to focus on the specific
nature of the question set.

The response might consider issues such as:

- In order to prove negligence, a claimant needs to establish causation, i.e. that the
damage (physical injury or damage to property) arose from the defendant’s
negligence.

- Causation is decided using the “but for” test — if it wasn’t for the defendant’s
actions, the injury would not have occurred.

- Barnett v Chelsea & Kensington Hospital Management Committee (1968) is
relevant to this issue.

Assessment grid for Q2(a)

AO1: Demonstrate knowledge and understanding of
Band Marks | the English Legal System and legal rules and
principles

Excellent knowledge and understanding of the English
Legal System and legal rules and principles relating to the
“but for” test in the law of tort. Response is clear, detailed
and fully developed.

Good knowledge and understanding of the English Legal
System and legal rules and principles relating to the “but
for” test in the law of tort. Response is generally clear,
detailed and fully developed.

Basic knowledge and understanding of the English Legal
System and legal rules and principles relating to the “but
for” test in the law of tort. Response includes minimal
detail.

0 Response not credit worthy or not attempted.
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Sticky Note

Q2(a) Mark:  3

Factual causation explained albeit only briefly. Barnett noted but insufficient explanation of the case to attain higher mark bands.
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Sticky Note

Q2(a) Mark: 2

Understands the concept of factual causation but uses criminal cases in a civil context which is incorrect. The key case here is Barnett.
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OR
Question 2: Law of Tort

(@) Explain the ‘but for’ test in the law of tort.
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(b) Explain the difference between special damages and general damages in the law of
tort. [6]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In explaining the difference between special damages and general damages,
candidates are expected to demonstrate knowledge and understanding of the
English legal system and legal rules and principles underlying the remedy.

The response might consider issues such as:

- An award of damages is the main remedy in the law of tort and the aim is to put
the injured party back in the same position they would have been in if the tort had
not occurred.

- Although a claimant who succeeds in a negligence action is entitled to damages,
he/she is expected to mitigate any losses.

- Special damages are available to compensate the claimant for losses incurred up
to the date of trial. They are easily quantifiable as the claimant will be able to
provide receipts etc to adduce evidence of financial loss up to trial through, for
example, medical expenses, travel expenses and loss of earnings up to that
point.

- General damages look to the future and include pecuniary and non-pecuniary
damages. They are more complex and thus are calculated by the court at trial in
accordance with judicial guidelines. The award will reflect, for example, loss of
future earnings and for pain, suffering and loss of amenity.

Assessment grid for Q2(b)

AO1: Demonstrate knowledge and understanding of
Band Marks | the English Legal System and legal rules and
principles

Excellent knowledge and understanding of the English
Legal System and legal rules and principles relating to the
3 5-6 difference between special damages and general damages
in the law of tort. Response is clear, detailed and fully
developed.

Good knowledge and understanding of the English Legal
System and legal rules and principles relating to the

2 3-4 difference between special damages and general damages
in the law of tort. Response is generally clear, detailed and
fully developed.

Basic knowledge and understanding of the English Legal
System and legal rules and principles relating to the

1 1-2 difference between special damages and general damages
in the law of tort. Response includes minimal detail.
0 Response not credit worthy or not attempted.
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Sticky Note

Q2(b) Mark: 4

Candidate has got mixed up between special and general damages. 
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Sticky Note

Q2(b) Mark: 5

A good answer showing understanding of difference between special and general damages. More detail needed to improve the mark further, e.g. examples and detail on how general damages are calculated by the court. 
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OR

Question 2: Law of Tort

[6]

(b) Explain the difference between special damages and general damages in the law of
tort. [6]
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()

Assess the obligations imposed on occupiers of property by the Occupiers’ Liability Act
1957. [9]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all the
material mentioned below. Each answer will be assessed on its merits according to the
assessment grid and the indicative content. Examiners should seek to credit any further
admissible evidence offered by candidates.

In order to achieve the highest marks, candidates must demonstrate their ability to draw
together details of the protection afforded to lawful visitors under the 1957 Act and will
evaluate the obligations which this places on occupiers of property.

The response might consider issues such as:

- Occupiers’ liability refers to the duty owed by land owners to those who come onto
their land. The Occupiers’ Liability Act 1957 protects lawful visitors against death,
personal injury and damage to property.

- However, the duty imposed on land owners can extend beyond simple land
ownership and in some instances, the landowners may transfer the duty to others
such as independent contractors (s2(4)(b)OLA 1957), hence the term occupier rather
than owner. Arguably, the term occupier itself is misleading since physical occupation
is not necessary for liability to arise.

- The question of whether a particular person is an occupier is a question of fact and
depends on the degree of control exercised. The test applied is one of ‘occupational
control' and there may be more than one occupier of the same premises. Wheat v E
Lacon & Co Ltd (1966) identified four categories of occupier.

- S1(3)(a), the Act has a wide ambit and applies not only to land and buildings but also
extends to fixed and movable structures, including any vessel, vehicle or aircraft.

- The term “lawful visitors” covers a wide range of individuals. S1(2) protects both
invitees and licensees (express or implied); s5(1) protects those who enter under
contract, e.g. guests at a hotel; s2(6) protects those entering to exercise a right
conferred by law — e.g. meter reader. Trespassers, invitees who exceed their
permission and persons on the land exercising a public right of way are, however, not
protected.

- S2imposes a common duty of care on occupiers to take reasonable care to ensure
that visitors are reasonably safe when using the premises for the purposes for which
they have been invited.

- The Act lays down guidelines on the ambit of the duty: s2(3)(a)- occupiers must be
prepared for children to be less careful than adults, taking into account the age and
understanding of the child (Jolley v Sutton (2000)); s2(3)(b) - an occupier may expect
that visitors should be expected to guard against special risks associated with the
reason for their visit; s2(4)(a) — a warning may discharge the duty of care, e.qg.
through signage (Tomlinson v Congleton Borough Council (2203)); s2(4)(b) - an
occupier is not liable for dangers created by independent contractors if the occupier
acted reasonably in all the circumstances in entrusting the work to a competent
contractor and took reasonable steps to satisfy himself that the work carried out
was properly done.

- Defences: volenti non fit injuria - s.2(5) no duty of care is owed in respect of risks
willingly accepted by the visitor - decided by common law principles; contributory
negligence - damages may be reduced under the Law Reform (Contributory
Negligence) Act 1945 where the visitor fails to take reasonable care for their own
safety; s2(1)(a) allows the occupier to modify his duty to visitors in so far as he is free
do so but any such exclusions by a business are subject to the terms of UCTA 1977.

© WJEC CBAC Ltd. 12
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Assessment grid for Q2(c)

Band Marks AO3: Analyse and evaluate legal rules, principles and
concepts
e Excellent analysis of legal rules, principles and
concepts relevant to the Occupiers Liability Act 1957.
e Analysis is detailed with appropriate range of
supporting evidence which draws together knowledge,
4 8-9 skills and understanding.
e Excellent evaluation of the Occupiers Liability Act 1957,
including a valid and substantiated judgement.
e Excellent citation of supporting case law and legal
authorities.
e Good analysis of legal rules, principles and concepts
relevant to the Occupiers Liability Act 1957.
e Analysis is generally detailed with appropriate range of
3 6-7 supporting evidence.
e Good evaluation of the Occupiers Liability Act 1957,
including a valid judgement.
e (Good citation of supporting case law and legal
authorities.
¢ Adequate analysis of legal rules, principles and
concepts relevant to the Occupiers Liability Act 1957.
e Analysis includes some detail with some supporting
5 3.5 evidence. . _ o
e Adequate evaluation of the Occupiers Liability Act
1957, including reference to a judgement.
e Adequate citation of supporting case law and legal
authorities.
e Basic analysis of legal rules, principles and concepts
relevant to the Occupiers Liability Act 1957.
1 1-2 e Analysis includes minimal detail.
e Basic evaluation of the Occupiers Liability Act 1957.
e Basic citation of supporting case law and legal
authorities.
0 ¢ Response not creditworthy or not attempted.

© WJEC CBAC Ltd.
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Sticky Note

Q2(c) Mark: 7

A very good script with commendable relevant citation.
Evaluation could be further developed. 
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Sticky Note

Q2(c) Mark: 6

Good knowledge generally, supported by case law. AO3 skills need further development - only one evaluation point noted.
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OR

Question 2: Law of Tort

(c) Assess the obligations imposed on occupiers of property by the Occupiers’ Liability Act
1957. [9]

B150U201
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The scenario below should be used when assessing part (d)

Tom, a retired schoolteacher, and his wife, Isabelle, were driving home after visiting their
local garden centre. As they made their way around the narrow lanes, they were suddenly hit
by huge hay bale which fell off a tractor driven at high speed by Daniel, a local farmer. Other
than suffering some bruising, Isabelle was not injured. Tom, however, suffered from
epilepsy. He started to fit, was air lifted to hospital and died later that night.

(d)

Advise Isabelle whether she is likely to be successful if she sues Daniel for
negligence in respect of Tom’s death. [9]

Indicative content

NOTE: The content is not prescriptive and candidates are not expected to mention all
the material mentioned below. Each answer will be assessed on its merits according
to the assessment grid and the indicative content. Examiners should seek to credit
any further admissible evidence offered by candidates.

In advising Isabelle, candidates will provide an assessment of the legal rules and
principles relating to the situation. In this case, candidates should consider the
requirements of duty of care in negligence and, using relevant case law, apply these
principles to the accident.

The response might consider:

- Duty of care needs to be established — see Caparo (1990) test as modified by
Robinson v CC West Yorkshire (2018)

- Factors to be taken into account include: foreseeabiity (Kent v Griffiths 2000),
proximity (Bourhill v Young 1943) and whether it is just, fair and reasonable to
impose a duty of care (Mulcahy v Ministry of Defence 1996)

- Likely to be able to show that Daniel owes a duty of care to Isabelle and Tom, as
road users.

- Will need to show that a breach of that duty has occurred. Factors to be taken
into account include: whether Daniel’s conduct falls below that of a reasonable
tractor driver Nettleship v Weston (1971); the probability of harm (Bolton v Stone
1951); the magnitude of likely harm (Paris v Stepney Borough Council 1951) and
cost and practicality of preventing the risk (Latimer v AEC Ltd 1953).

- Likely that, in failing to properly secure the hay bales properly, Daniel breached
his duty of care

- Daniel must be a factual cause (Barnett v Chelsea & Kensington Hospital
Management Committee 1968) of the claimant’s loss. “But for” Daniel’s actions,
the accident would not have happened.

- It must also be established that the damage suffered was a reasonably
foreseeable consequence of the breach (Wagon Mound No 1 1961) which is
evident here.

- Even if Tom’s prior condition (epilepsy) adversely affected his chances of
survival, the “thin skull” rule applies and Daniel must “take his victim as he finds
him” (Smith v Leech Brain & Co 1962).

© WJEC CBAC Ltd. 14





Assessment grid for Q2(d)

Band

Marks

AO2: Apply legal rules and principles to given
scenarios in order to present a legal argument using
appropriate legal terminology

8-9

e Excellent application of legal rules and principles to
Isabelle and Tom'’s situation.

o Excellent presentation of a legal argument using
appropriate legal terminology, case law and other legal
authorities regarding whether Isabelle is likely to
succeed in a claim for negligence against Daniel. The
legal argument is detailed, fully developed and
persuasive.

6-7

e Good application of legal rules and principles to
Isabelle and Tom'’s situation.

o Good presentation of a legal argument using
appropriate legal terminology, case law and other legal
authorities regarding whether Isabelle is likely to
succeed in a claim for negligence against Daniel. The
legal argument is generally detailed, developed and
persuasive.

3-5

e Adequate application of legal rules and principles to
Isabelle and Tom'’s situation.

¢ Adequate presentation of a legal argument using some
appropriate legal terminology regarding whether
Isabelle is likely to succeed in a claim for negligence
against Daniel. The legal argument includes some
detail which is developed in places.

1-2

e Basic application of legal rules and principles to
Isabelle and Tom’s situation.

e Basic presentation of a legal argument using minimal
legal terminology regarding whether Isabelle is likely to
succeed in a claim for negligence against Daniel. The
legal argument includes minimal detail.

Response not credit worthy or not attempted

© WJEC CBAC Ltd.
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Sticky Note

Q2(d) Mark: 7

Very good script. Duty, breach and causation addressed in some detail accompanied by commendable citation. No mention of “thin skull” rule and more detail needed on remoteness of damage and Wagon Mound.
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